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438 (R1.2.3-R7.2.9) T % B | FFEHE]PHESE &t # #EEH B H B R E BB
Fit (R6.9.2-R7.2.9) S8 | Bt | S8 | F5t | 98 | Fe5t | 58 | F5t [ £8 it [ 58 | =& S8 | Hit
(EEm) _RE M 0 0 0 0 0 0 0 0
W # 0 1 2 0 3 106 23 23
TN 0 13 4] 123 4 136 118 3,816 23 874 23 874
hF 1 4 1 24 1 29 35| 1,857 7 344 1 344
E2EER 0 0 9 0 9 326 68 68
Z D fth 0 0 0 0 0 0 0 0
&t 0 1 0 18 5| 158 5| 171 153] 6,105 30] 1,309 30] 1,309
(AEm )| _RE M 0 0 0 0 0 0 0 0
W # 2 1 1 0 4 142 49 43
TS 1 1 90 0 92 3,095 971 937
hF & 0 0 24 0 24 828 234 199
E2EER 0 1 12 0 13 136 162 158
Z D fth 0 0 0 0 0 0 0 0
&t 0 3 0 3 0o 127 0] 133 0] 4 801 0] 1,416 0f 1,342
(F B _REF 0 0 0 0 0 0 0 0
W # 0 0 0 0 0 0 0 0
TS 0 4 10 0 14 627 137 123
hF & 0 0 1 3 1 3 36 96 8 23 8 23
E2EFR 0 1 0 0 1 183 42 35
Z D fth 0 0 1 0 1 1 3 3
&t 0 0 0 5 1 14 1 19 36 913 8 205 8 184
(B A REM 0 0 0 0 0 0 0 0
# 1 0 5 0 6 314 88 74
TS 1 1 1 32 1 40 29| 2,456 14 112 14 443
P F & 0 4 19 0 23 1,371 356 231
=EFR 0 1 0 0 1 21 67 67
Z D fth 0 0 0 0 0 0 0 0
&t 0 2 0 12 1 56 1 10 29] 4 412 14] 1,223 14 815
(% B _REF 0 0 0 0 0 0 0 0
# 0 0 14 0 14 341 81 15
TS 0 8 1 16 1 84 29| 3,062 3 408 3 398
P F & 0 4 16 0 20 1,372 141 128
=EFR 0 0 2 0 2 16 25 16
Z D fth 0 0 1 0 1 6 2 2
&t 0 0 0 12 1 109 1 121 29| 4 857 3 657 3 619
(HEm)|_RE M 0 0 0 0 0 0 0 0
2 8 6 0 16 336 122 63
R 11 17 1 Al 1 99 32| 2,717 7 812 4 472
B2 K 1 1 21 0 23 116 196 82
SEPR 0 0 0 0 0 0 0 0
fAOR ] 0 0 0 0 0 0 0 0
&t 0 14 0 26 1 98 1 138 32| 3,769 71 1,130 4 617
(&) _RE R 0 0 0 0 0 0 0 0
0 0 1 0 1 2] 1 3
PR 0 1 1 30 1 31 31 9N 9 264 4 221
B2 K 0 3 19 0 22 1,143 291 243
SEPR 0 0 0 0 0 0 0 0
fAOR 0 0 0 0 0 0 0 0
&t 0 0 0 4 1 50 1 54 31 2,141 9 562 4 467
(m ®)_REM 0 0 1 0 1 28 4 4
# 0 0 0 0 0 0 0 0
TR 1 8 43 0 52 2,092 661 537
B R 1 1 24 0 32 1,282 312 258
SEPR 0 0 1 22 1 22 40 817 10 214 10 193
AR 0 0 0 0 0 0 0 0
&t 0 2 0 15 1 90 1 107 401 4 219 10] 1,191 10 992
(tEEh )| R B M 0 0 0 0 0 0 0 0
0 6 0 0 6 139 54 31
TR 1 10 1 67 1 18 30| 2 237 9 698 8 317
B R 0 10 20 0 30 1,768 485 209
SEPR 0 0 1 0 1 39 13 1
fAOR 0 0 0 0 0 0 0 0
&t 0 1 0 26 1 88 1 115 30/ 4183 9] 1,250 8 564
(&8 ®B) RE M 0 0 0 0 0 0 0 0
# 0 0 0 0 0 0 0 0
TR 0 2 0 0 2 46 15 15
R 0 0 0 0 0 0 0 0
ESEPR 0 0 0 0 0 0 0 0
R 0 0 0 0 0 0 0 0
&t 0 0 0 2 0 0 0 2 0 46 0 15 0 15
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438 (R1.2.3-R7.2.9) I EEENE IR N &t # #EEH B H B R E BB
Fit (R6.9.2-R7.2.9) S8 | Bt | 58 | F5t | 98 | Fet | 58 | Fit [ S8 it [ 58 | =& S8 | Rt

(8 B RE M 0 2 3 0 5 111 32 32

W # 0 0 0 0 0 0 0 0

TN 0 8 10 0 18 540 204 185

hF 0 4 3 0 1 433 86 83

E2EER 0 1 3 0 4 135 30 30

Z D fth 0 0 0 0 0 0 0 0

&t 0 0 0 15 0 19 0 34 0] 1,219 0 352 0 330

(F B _RE 0 0 0 0 0 0 0 0

W # 0 0 1 8 1 8 8 179 5 63 5 63

TS 0 3 1 13 1 16 14 544 5 122 5 122

hF & 0 2 1 0 9 383 61 61

E2EER 0 0 0 0 0 0 0 0

Z D fth 0 0 0 0 0 0 0 0

&t 0 0 0 5 2 28 2 33 221 1,106 10 246 10 246

(28 EM) RE M 0 0 0 0 0 0 0 0

W # 1 0 0 0 1 53 11 6

TS 0 6 4 0 10 293 11 64

hF & 1 0 1 0 2 451 32 32

E2EFR 0 0 1 0 1 32 12 8

Z D fth 0 1 0 0 1 32 12 12

&t 0 2 0 1 0 6 0 15 0 861 0 144 0 122

(® )| RE M 0 0 0 0 0 0 0 0

# 0 0 0 0 0 0 0 0

TS 0 5 0 0 5 137 45 45

P F & 0 1 0 0 1 54 16 16

=EFR 0 0 1 1 1 1 40 40 9 9 9 9

Z D fth 0 0 0 0 0 0 0 0

&t 0 0 0 6 1 1 1 1 40 231 9 10 9 10

(H R _RE M 0 0 0 0 0 0 0 0

# 1 0 0 0 1 1 4 4

TS 1 1 20 1 9 2 30 38 926 13 257 12 246

P F & 0 4 4 0 8 470 116 108

=EFR 0 0 2 0 2 14 21 19

Z D fth 0 0 0 0 0 0 0 0

&t 0 2 1 24 1 15 2 4 38| 1,477 13 398 12 377

(W X)) _REM 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0

R 0 11 5 0 16 353 129 102

B2 K 0 1 4 2 8 3 12 105 404 31 107 20 91

SEPR 0 0 0 0 0 0 0 0

fAOR ] 0 0 0 0 0 0 0 0

&t 0 0 1 15 2 13 3 28 105 157 31 236 20 193

(REFHI_RE M 0 0 0 2 0 4 0 6 0 139 0 36 0 36

0 7 0 16 1 37 1 60 8] 1,644 5 502 5 390

PR 0 16 1 124 11 583 12| 723 321 23,912 83| 6,386 73] 5,101

B2 K 0 4 1 48 4 193 5[ 245 176] 12, 628 46| 2,800 35| 2,108

SEPR 0 0 0 4 2 53 2 57 80| 2,729 19 663 19 610

fAOR 0 0 0 1 0 2 0 3 0 45 0 17 0 17

&t 0 2] 2] 195 18] 872 20| 1,094 585] 41,097] 153[ 10,404] 132 8 262

(#Fm )| _RE M 0 0 0 0 0 0 0 0

# 1 0 10 0 11 290 11 11

TR 0 19 5| 218 5[ 237 157 12,525 34| 3 218 34| 3,218

B R 0 12 1 86 1 98 40| 5,619 10| 1,238 10] 1,223

SEPR 0 0 1 0 1 378 98 96

AR 0 0 9 0 9 103 29 29

&t 0 1 0 31 6] 330 6] 362 197] 18,915 44| 4, 660 44| 4 643

(& ) _REM 0 0 0 2 0 4 0 6 0 139 0 36 0 36

0 8 0 16 1 47 1 Al 8] 1,934 5 579 5 467

TR 0 16 1 143 16| 801 17] 960 478| 36,437| 117( 9,604] 107{ 8 319

B R 0 4 1 60 5 279 6] 343 216| 18,247 56/ 4,038 45| 3,331

SEPR 0 0 0 4 2 60 2 64 80| 3,107 19 161 19 706

z D 0 0 0 1 0 11 0 12 0 148 0 46 0 46

&t 0 28 2| 226 24| 1,202 26| 1,456 782| 60,012{ 197| 15,064 176{ 12,905




